MARKING SCHEME
SECTION I: MULTIPLE CHOICE QUESTIONS (MCQs)     40MARKS

1. C

2. B

3. A

4. C

5. D

6. B

7. B

8. C

9. B

10. D

11. A

12. D

13. C

14. B

15. C

16. B

17. C

18. D

19. D

20. D

21. B

22. B

23. D

24. C

25. D

26. D

27. C

28. A

29. D

30. B

31. D

32. D

33. D

34. C

35. D

36. B

37. D

38. A

39. B

40. C

SECTION II: SHORT ANSWER QUESTIONS (SAQs)     40MARKS

1. Name the commonest sites of osteosarcoma (5marks)

i. The femur - 42%, with 75% of tumors in the distal femur

ii.  The tibia - 19%, with 80% of tumors in the proximal tibia

iii. The humerus - 10%, with 90% of tumors in the proximal humerus

iv. Lower radius.

v. Around the knee joint

2. List the laboratory tests findings that are useful in the diagnosis of multiple myeloma (5marks)

i. ESR is increased

ii. Bence jones proteins, meaning monoclonal antibodies. Are present in the urine.

iii. Serum globulins are increased.

iv. Anaemia

v. Hypercalcaemia

vi. renal impairment
3. List the signs of congenital hip dysplasia in a child which presents late (5marks)

i. Shortening of the affected limb.

ii. Assymetry if unilateral.

iii. Restricted abduction in flexion.

iv. The affected limb is excessivly mobile in its long axis.

v. Telescopic movement.

4. List the signs and symptoms of Dupuytren's contracture (5marks)

i. First presents as a thickening or nodule in the palm

ii. Painful palmar nodule

iii. Increasing loss of range of motion of the affected fingers. 

iv. Tenosynovitis 

v. palmar fascia becomes abnormally thick

vi. Decrease in a person's ability to hold objects

vii. Pain, aching and itching with the contractions.

5. Outline the risk factors to getting osteomyelitis (5marks)

i. Diabetes (most cases of osteomyelitis stem from diabetes)

ii. Sickle cell disease

iii. HIV or AIDS

iv. Rheumatoid arthritis

v. Intravenous drug use

vi. Alcoholism

vii. Long-term use of steroids

viii. Hemodialysis

ix. Poor blood supply

x. Recent injury

xi. Bone surgery, including hip and knee replacements, also increase the chance of bone infection

6. mention the causative organisms of pyogenic arthritis (5marks)

i. Staph aureus

ii. Strept species

iii. Gonococcal infections

iv. Pseudomonas species

v. Mycobacterium bacilli

vi. Salmonella

vii. E. coli

7. List the pathological findings of a joint which is involved in the rheumatoid process. (5marks)

i. Synovium is thickened.

ii. Articular cartilage softens and erodes.

iii. Subchondral bone may be eroded

iv. The eroded surface becomes covered by a pannus

8. state 5 complications of amputation (5marks) 

i. Infections

ii. Haematoma

iii. Necrosis

iv. Contractures

v. Photom limb

vi. Phatom pain

SECTION III: LONG ANSWER QUESTION (LAQ)       20MARKS

1. Describe slipped upper femoral epiphysis under the following subheadinngs:

Slipped upper femoral  

           (i) cause :

                         -Risk factors: obesity,sexuall immature,excessively tall & thin.

                        -hormonal imbalance results to physeal disruption due to disparity

                           betweenpituitary & onadal hormones .

                       -hypogonadal child ( Frohlich type of child)

                      -epiphysiolysis in children with craniopharngioma.

                      - trauma

    (ii) pathology:

                      -slipped epiphysis:femoral shaft rolls into external rotation.

                     -femoral neck is displaced forwards & the epiphysis remains seated.

                    -disrruption occurs through the hypertrophic zone of the epiphysis.

                   - severe slip the anterior retinacular blood vessels are torn.

                  - at the back of the femooral head the periosteum is lifted from the bone 

                     with blood vessels intact .

                 -physeal disrruption leads to immature fussion of the physis accompanied by

                    considerable  bone  remodelling.

· Finally  permanent external rotation deformity,coxavara.

(iii) Treatment:

                      (a)mild  slip:

                                      - deformity minimal no correction required.

                                      -stabilize the physis by pins /screws or threaded pins along the femoral neck.

                     (b) moderate slip :

                                        -deformity noticeable 

                                        -remodelling causes little deformity.

                                       -accept position:  fix the epiphysis in situ

                                       -1-2 yrs later if  noticeable corrective osteotomy is performed

                                          below the femoral neck.

                      (c) severe slip:   

                                              -unacceptable slip,causes marked deformity,if untreated

                                                predisposes to secondary OA. 

                                             -operative correction is the option of choice.            
